1 9909 NOPINININNT MNNIWYN
59990

1 AONVY
y'=2y—-1Ly(0)=1 :myan nnm
.x=0.1,0.2,03 323 ¢(x) 2wvMm y=0(x) N3N .N
TN NN A =0.1 WwNo9(0.1),0(0.2),0(0.3) 2995 12 99X NVOW wHRNYN .2

SPNNVIND

2 NOHNY
:7PYIAN NN
y'=1=x+y,y(x) =y,
V(X)) =0(x) = (¥, —Xx,)e" ™ +x NN PITH PINID ININ LN
k=12,...,y,(x)=1+h)y,, +h—=hx,, : AN nOWIININ .2
IWND Y, (x) = o(x) DNy, (x)=1+h)"(y, —x,)+x, 2020 )
MIAPINRY ) h=(x—Xx()/n

3 nYNY

: PNNNN ONIN NNN NININ NMINNWNN NN NS
{ y'+ sin(x2 )y' — arctan(x)y = arctan(x)
»(0)=-1,(0)=0

4 NYNY

Vo) =x+ x*h Y1 =X NN y(”) = f(x,y) DNNWNY NPNY DD OIAVIAV 1 ON N
PON (X, ) OSPNANY W (TN DNIY)

5 NONY

MIP X 95912y Y MNWN ININ 1202 DT P F(x, ) nn

PPN a <b Y39 NN ' = F(x,y) "NNWHN AR MD»Pn f,g DX D XN 1
h(x) = f(x)-g(x) qwno |h(b)| < |h(a)|

NN Y’ = F(x,p) nwnd (x > a 939) PT18 — 07 MITN 0awn /X PN PO I

.y(a) =y, nbrmnn »Nom



